Chart 1
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Percentage point change in adjusted admitted RTT performance between 

May and Nov 08

13 acuteproviders dropped 

more than 5 percentage 

points between May and Nov 

2008
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Impact of increasing OP activity on overall waiting time

OP clinic (10 

patients seen 

per day)
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Theatre (5 

patients 

treated per 

day)

100 patients on 

OP waiting list

Waiting time from 

joining OP queue to 

receiving treatment 

= OP wait (100/ 10 

per day) + IP wait 

(75/5 per day)

= 10 + 15

= 25 days

What happens if an additional OP clinic is laid on so there are no patients waiting (open access)?

OP clinic (20 

patients seen 

per day)
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75 patients 

waiting on the 

IP list

Theatre (5 

patients 

treated per 

day)

No patients on 

waiting list for OP 

appt

Waiting time from 

joining OP queue to 

receiving treatment 

= OP wait (0/ 20 per 

day) + IP wait (125/5 

per day)

= 0 + 25

= 25 days
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+

75 patients 

waiting on the 

IP list



Patient not needing IP treatment 



Patient needing IP treatment

50 patients 

pushed 

through by 

additional clinic

The overall (RTT) waiting 

time to admission stays 

exactly the same

 
